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B.Com. Part—I (Semester—I) (CBCS) Examination
(Optional Subject)
PRINCIPLES OF BUSINESS ECONOMICS (BC-14)

Time : Three Hours] [Maximum Marks : 80

Note :— (1) All questions in Q. No. 1 are compulsory.

(2) Draw diagrams wherever necessary.

1. MCQ's :
(1) Statement one — Adam Smith is known as the father of Economics.
Statement two — Adam Smith wrote the book "Principle of Economics'.
(a) Statement one is correct (b) Statement two is correct
(c) Both statements are correct (d) Both statements are wrong
(2) Statement one — Robbin's definition of Economics is based on scarcity.
Statement two — Human wants are unlimited.
(a) Statement one is correct (b) Statement two is correct
(c) Both statements are correct (d) Both statements are wrong
(3) Statement one — Economic laws are always true.
Statement two — Economic laws can be verified in the laboratory.
(a) Statement one is correct (b) Statement two is correct
(c) Both statements are correct (d) Both statements are wrong
(4) Statement one — Aggregate factors are studied in micro economics.
Statement two — National income is studied in macro economics.
(a) Statement one is correct (b) Statement two is correct
(c) Both statements are correct (d) Both statements are wrong
(5) Statement one — Utility is a subjective concept.
Statement two — There is no utility in alcohol.
(a) Statement one is correct (b) Statement two is correct
(c) Both statements are correct (d) Both statements are wrong
(6) Statement one — As the stock of a commodity increases, utility decreases.
Statement two — The law of equi-marginal utility is introduced by Marshall.
(a) Statement one is correct (b) Statement two is correct

(c) Both statements are correct (d) Both statements are wrong
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(7) Statement one — Law of equi-marginal utility is known as Marshall's law.
Statement two — This law is called Gossen's second law.
(a) Statement one is correct (b) Statement two is correct
(c) Both statements are correct (d) Both statements are wrong

(8) Statement one — The satisfaction obtained from every point on the indifference curve
is not same.

Statement two — More satisfaction in achieved on the lower indifference curve.

(a) - Statement one is correct (b) Statement two is correct

(c) Both statements are correct (d) Both statements are wrong
(9) Statement one — Desire means demand.

Statement two — Effective desire means demand.

(a) Statement one is correct (b) Statement two is correct

(c) Both statements are correct (d) Both statements are wrong
(10) Statement one — Law of demand is introduced by Robert Giffen.

Statement two — Giffen goods are high quality goods.

(a) Statement one is correct (b) Statement two is correct

(c) Both statements are correct (d) Both statements are wrong

(11) Statement one — Concept of elasticity of demand is introduced by Marshall.

Percentile changes i price

Statement two — The formula of elasticity of demand is Percentile changes in demand

(a) Statement one is correct (b) Statement two is correct

(c) Both statements are correct (d) Both statements are wrong
(12) Statement one — Total outlay method is the method of elasticity of demand.

Statement two — Total outlay method is introduced by Marshall.

(a) Statement one is correct (b) Statement two is correct

(c) Both statements are correct (d) Both statements are wrong
(13) Statement one — Supply changes in the inverse direction of price.

Statement two — Supply curve is positive.

(a) Statement one is correct (b) Statement two is correct

(c) Both statements are correct (d) Both statements are wrong
(14) Statement one — Law of variable proportion depends on short-run. production function.

Statement two — In short-run, all the factors of production is changeable.

(a) Statement one is correct (b) Statement two is correct

(c) Both statements are correct (d) Both statements are wrong
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(15) Statement one — ISO quant curve sloping downwards from left to right.
Statement two — ISO quant curve do not intersect each other.
(a) Statement one is correct (b) Statement two is correct
(c) Both statements are correct (d) Both statements are wrong
(16) Statement one — Internal efficiency and management excellence lead to internal economies.
Statement two — Centralization of industry leads to external economies.
(a)  Statement one is correct (b) Statement two is correct
(c) Both statements are correct (d) Both statements are wrong
(17) Statement one — Monetary cost is not incurred in money.
Statement two — Monetary cost is incurred in money.
(a) Statement one is correct (b) Statement two is correct
(c) Both statements are correct (d) Both statements are wrong

(18) Statement one — The subtraction of total fixed cost and total variable cost is total cost
of production.

Statement two — Total fixed costs do not vary with the volume of production.

(a) Statement one is correct (b) Statement two is correct

(c) Both statements are correct (d) Both statements are wrong
(19) Statement one — Long run cost curve called planning curve.

Statement two — Shape of long run-average cost curve is M.

(a) Statement one is correct (b) Statement two is correct

(c) Both statements are correct (d) Both statements are wrong

(20) Statement one — Marginal revenue curve lies on the lower side of the average revenue
curve.

Statement two — Marginal revenue is the net addition to total revenue.
(a) Statement one is correct (b) Statement two is correct

(c) Both statements are correct (d) Both statements are wrong
20x1=20

Short answer questions :
(1) (a) 'Less wants more happiness and more wants less happiness'. Examine the statement.
OR

(b) '"Macro economics is useful for the study of the whole economy'. Explain this
statement.

(2) (a) 'Exceptions to the law of diminishing marginal utility are only hypothetical'. Explain.
OR

(b) 'Indifference curves do not touch the axes'. Interpret.
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(3) (a)

(b)
4) (a)

(b)
(5) (a)

(b)

Express your opinion regarding the demand.
OR
"The concept of elasticity of demand is a gift to economics'. Explain this statement.
'Supply is not stock'. Explain.
OR
'The ISO quant curve is called production indifference curve'. Explain.

'Actual cost of production is more important than monetary cost of production'.
Explain.

OR

'The income received on sale of the commodity is revenue'. Explain.  4x5=20

3. Long answer questions :

(1) (a)

(b)

(2) ()

(b)

(3) (a)

4) (a)

(5) (a)

(b)

LT—32

'Human wants are unlimited and means are limited, so that wants and means must
be reconciled'. Explain this statement in detail.

OR

'Economic laws are important in daily life and there are some limits to it'. Express
your opinion.

'Marginal utility of x _ Marginal utility of y Marginal utility of n

Price of x Price of y Price of n

Determine this statement with the help of diagram.
OR

'A line showing different combinations is indifference curve'. Illustrate this statement
with features and diagram.

'Demand moves in opposite direction of price'. Illustrate this statement with diagram
from daily life experience.

OR

Analyze the total outlay method and the geometric method of measuring elasticity
of demand.

'Marginal product is zero when total production is maximum'. Explain this statement
with example and diagram.

OR

'Mass production brings many types of economies and diseconomies'. Analyze this
statement.

'The long-run average cost curve is derived from the short-run average cost curve'.
Explain this statement with diagram.

OR

'Analyze total, average and marginal revenue curves with the help of diagrams.
8x5=40
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